ées.Son >

Truth tobfes

tho:h’on cufes

3 P oo%s methods
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E = Tom exnarcides

wW = Tom puts on wen‘Sh-i-

The negation of "if Tom does not exercise he
puts on weight " is (mark all that apply):

1 (1€ = \x/) = 7EA W

1. If Tom puts on weight he does not exercise.
w => 1€ not equi UQPeoJ- Pook at : W s F

c-=T
2. Tom does not exercise and does not put
on weight.
1E A Tw

3. If Tom exercise he does not put on weight.

€ => 1w not Qquitﬂz?eni- book at : \:,e-r

c = F
4. Tom exercises and does not put on weight.

E N Tw

not fqui vQPenJ- Pook at : \:J T F
c-F

=
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nggﬂim ruPQ.s (éee hQndom‘)

lasy Fime we \)ookeel Qt ()QSO.J\‘COH
cwles 6@(‘ Connectives .

Quo.n‘liﬁ-(e(s nesq.\‘\’on \"\,\Qg_s

1 ¥ % P(x) Same <S Ax 7P (x)
1 3 % P(x)  same os ¥ 1fx)
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N QSO.'('.Q

£ in Rt

AL m R Vero I min 2t Vning' avm=>|en™p)es
ond simP?:—}J the Mgo:lioo into a. statemenst
thoat does net use +he .SmeOE 1

()S‘ Xov Toke math 327 Koo wifl fearn
that +he stotenrat < bowe 3°~35’.

Y.'m (-:)0 ex:sts )
N~2te0

/UQSQ.‘l'ion ‘

138 iR Vero 3 wm in 27 Vi in g1 a>m =) Jev™p)<E

Y inR Jegro Vomin2? 3 nin’? (n>m)/\((-')n-€) % E
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Yore

13

*Qr My No 90&3

P =>

Y

—

\ rue

(AS1pE : does 4hrs TeQl us Qf\ai'k{/)g
a boot P o =& bQ-inS True o
Fale 7)  we =
J

P is sufficvant Jor |

L rs nQCe.B..S-Q,rJ jOr‘ £

I,_; P> 'S Trueg R &Qé
P (=) 1s neceddaer  @ad
Safjicient Joo A ()
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ls be\'ns Q (\MUP"‘CPPQ oé’ ¢
QU nNecedder condition Jor
thnS eien Is 1t Swffrcient 7

GLasider
W & X Sewrn =>X is q MuQ-}.‘peq %3 q

Neot true g0 meS Q multiple
QS (\ 'S not NnNece DerJ jor bo 1‘./g>

Lrn

Col\siéqr
- xfso.(vngQJ-.‘P&gj’((<>><\:s R Ry

Teua So Jpq_('nS Q Moe’}\‘pfq ‘Dg
( s Su%%fCCQn'\‘ S—QI‘ bQinS R n
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?roo%s and 3uqn‘h'§iers
To prove VX in A P(x)

ConSic\o.r LN Se.mzn‘c xX in A Qnd show
P(xd

—

I'o Prow A% v A PIx)
Find oae ePement < od’ A ond show

P(a)
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Threae Pcoog methods fo efobe.
Y x Px) => Q(x)

) Dicect amethod :

asso me P(x) derre S (x)

Z-) Conica Qo.’:i‘ho,, '

Qssume 1 (x) deae  100x)

3) Gontradiction -
Qssome P(x) ead T12(x) Qnd

derie @ :SQP.\Q Stat emeal.

In Sqng r P to Pfouz S L‘a ©@nt d.ction
QASS Y Mme 15 end  derie x :_(59.9-5{ £+°~'f€ tment
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Do.:gz Q in T

=N

'S Qwn fj-j' 3k|’na' o2 K
in Z is odd .JJ. Fk ;a2 =2kt

Given &, b ian T a d;vides b 'CS'J'
ak in 2 b= oKk .

Th: BO..‘nS Q nmg?«)-;()ﬁg QS #

is  Sud¥tcirat
{)’o( bQ.ihS LR N o

Tk 'S Mmea.ngs

¥ X in z X 15 Q m\;?-)-.’PPQ od’ 4 =2 R S ewn
\/fAl' — \_— r‘—’
Pix) Rx)
) Tru{

?CQQX . SOﬂ)on X S O MUP+‘PPQ 'DJ q/
that is X =4 Kk dw S0 Mg k ia Z/
the n X = 2 (2Kk) @nd

K s ’n Z
"’"\Qtt%%’z X is n

This is en QKQM?PQ °(5) o Direcd
?fvog.
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Th: Beirg & mmobhiph of ¢ 5 w0t

he CesSer g éof be:nS ewan. Jhis meaws

T ¥x in%(X 'S QN =2 X IS5 QMuQJ-.‘p'()Q ’~g C,)

is True .

Proof :  The stetemen? we need o
?TQ\% IS tﬁu.{‘\sQ?tzn‘)‘ +o0 :

4 x in & Xis ewa N X rs p04 Q MUP-J-.‘(‘EL 08 4 .
TaKe x=2

Note : To Prowe O is felse we usua.f?a(
QTQ\& _\5 is Tf\)seo
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